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Time : 3 hours
Full Marks : 70

Candidates are required to give their answers in
their own words as far as practicable.
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Answer any five questions.
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1. Discuss the conflicts in policy objectives of
macro economic policy. 14
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- 2. What are the different methods for the masure-
ment of national income ? What are their
limitations ? 7+7=14
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Why national income accounting is done ? What

difficulties are faced in its preparation ?
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Distinguish between balance of trade and
balance of payments. Indicate the various items
in the BoPs of a country. 7+7 =14
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Discuss the causes of disequilibrium in the

balance of payments of a country. How can this

disequilibrium be corrected ? 7+7=14
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Explain the Cambridge Version of Quantity
Theory of Money. How does it differ from the
Fisher’s version ? 7+7=14
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What are the objectives and limitations of
monetary policy of Reserve Bank with special
reference to India ? 14
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Examine the impacts of Inflation on different
sections of society. 14
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What is Inflationary Gap ? How can you bridge

the inflationary gap ? : 7+7=14
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Write short notes on any two of the following :
7+7 =14
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(a) Circular flow of Income
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(b) Keynesian model of Income Determination
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(c) Monetary Multiplier
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(d) Credit Creation by Commercial Banks
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